
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
   Στο	
   αναπαραγωγικό	
   σύστημα	
   του	
   άνδρα	
   παράγονται	
   οι	
   γαμέτες	
   αλλά	
   και	
   οι	
  
αντρικές	
  ορμόνες.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

α)	
  	
  Από	
  ποια	
  τμήματα	
  αποτελείται	
  το	
  αναπαραγωγικό	
  σύστημα	
  του	
  άνδρα;	
  	
  (3μ)	
  

β)	
   Ποιο	
   από	
   τα	
   τμήματα	
   του	
   α.	
   ερωτήματος	
   παράγει	
   τα	
   σπερματοζωάρια;	
   Να	
  
ονομάσετε	
  μία	
  ορμόνη	
  που	
  παράγεται	
  από	
  το	
  τμήμα	
  αυτό;	
  (2μ)	
  

γ)	
   	
   Τα	
   σπερματοζωάρια,	
   αφού	
   παραχθούν,	
   αποθηκεύονται	
   και	
   ωριμάζουν	
   σε	
   μια	
  
συγκεκριμένη	
   δομή.	
   Πώς	
   ονομάζεται	
   η	
   δομή	
  αυτή,	
   πού	
   βρίσκεται,	
   τι	
   μορφή	
   έχει;	
  
(3μ)	
  

δ)	
   Πότε	
   αρχίζει	
   η	
   παραγωγή	
   σπερματοζωάριων	
   στη	
   ζωή	
   του	
   άνδρα;	
   Ποια	
   είναι	
   η	
  
ιδανική	
  θερμοκρασία	
  για	
  την	
  παραγωγή	
  τους;	
  (4μ)	
  	
  

	
  
ΙΙ.	
  Η	
  λειτουργία	
  του	
  Νευρικού	
  Συστήματος	
  θα	
  ήταν	
  αδύνατη,	
  αν	
  δεν	
  υπήρχαν	
  οι	
  
νευρικές	
  οδοί.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  
	
  
α)	
  Τι	
  ονομάζουμε	
  νευρική	
  οδό;	
  Πώς	
  διακρίνονται	
  οι	
   νευρικές	
  οδοί	
  ανάλογα	
  με	
   τη	
  
λειτουργία	
  τους;	
  (5μ)	
  
	
  
β)	
  Αν	
  μια	
  οδός	
  μεταβιβάζει	
  ένα	
  μήνυμα	
  προς	
  έναν	
  μυ,	
  σε	
  ποια	
  κατηγορία	
  ανήκει;	
  Αν	
  
μια	
  οδός	
  μεταβιβάζει	
  ένα	
  μήνυμα	
  που	
  προέρχεται	
  από	
  ένα	
  αισθητήριο	
  όργανο,	
  σε	
  
ποια	
  κατηγορία	
  ανήκει;	
  (4μ)	
  
	
  
γ)	
  Ποια	
  είναι	
  απλούστερη	
  νευρική	
  οδός	
  και	
  από	
  τι	
  αποτελείται;	
  (4μ)	
  	
  
	
  
ΘΕΜΑ	
  Δ	
  
	
  
Στο	
   τοπικό	
   νοσοκομείο	
   έχει	
   σημάνει	
   συναγερμός.	
   Μόλις	
   έχουν	
   μεταφέρει	
   5	
  
φίλους	
   που	
   ενεπλάκησαν	
   σε	
   αυτοκινητιστικό	
   ατύχημα,	
   οι	
   οποίοι	
   χρειάζονται	
  
επειγόντως	
  μετάγγιση	
  μιας	
  φιάλης	
  αίματος	
  ο	
  καθένας.	
  Το	
  πρόβλημα	
  όμως	
  είναι	
  
ότι	
   στην	
   αιματολογική	
   μονάδα	
   του	
   νοσοκομείου	
   υπάρχουν	
   μόνο	
   6	
   φιάλες	
  
αίματος	
  από	
  τις	
  οποίες:	
  Δύο	
  (2)	
  είναι	
  της	
  	
  ΑΒ	
  ομάδας,	
  	
  δύο	
  (2)	
  της	
  0	
  ομάδας,	
  μια	
  
(1)	
  της	
  Α	
  και	
  μια	
  (1)	
  της	
  Β	
  ομάδας.	
  	
  
Αν	
   οι	
   δύο	
   από	
   τους	
   τραυματίες	
   ανήκουν	
   στην	
   Α	
   ομάδα	
   αίματος,	
   ένας	
   στην	
   ΑΒ	
  
ομάδα,	
  ένας	
  στην	
  0	
  ομάδα	
  και	
  ο	
  ένας	
  στη	
  Β	
  ομάδα.	
  
	
  
I. Τι	
   είδους	
   αντιγόνα	
   και	
   τι	
   είδους	
   αντισώματα	
   έχουν	
   στο	
   αίμα	
   τους	
   οι	
  

τραυματίες	
  που	
  ανήκουν	
  στην	
  ΑΒ	
  και	
  στην	
  0	
  ομάδα	
  αίματος;	
  	
  
	
  

II. Αφού	
  μεταφέρετε	
  τον	
  πίνακα	
  που	
  ακολουθεί	
  στην	
  κόλλα	
  σας,	
  να	
  βάλετε	
  το	
  
σύμβολο	
   (+)	
   σε	
   όποιο	
   τετράγωνο	
   αντιστοιχεί	
   στην	
   ομάδα	
   αίματος	
   που	
  



πρέπει	
  να	
  πάρει	
  καθένας	
  από	
  τους	
  φίλους,	
  ώστε	
  να	
  καλυφθούν	
  οι	
  ανάγκες	
  
όλων	
  σε	
  αίμα	
  και	
  να	
  μην	
  προκύψει	
  πρόβλημα	
  ασυμβατότητας	
  σύμφωνα	
  με	
  
το	
  σύστημα	
  ΑΒ0.	
  	
  

	
  
Ομάδα	
  αίματος	
  
τραυματιών	
  

Φιάλες	
  αίματος	
  
1	
  (Α)	
   1(Β)	
   2(ΑΒ)	
   2	
  (0)	
  

Α	
  (1ος)	
   	
   	
   	
   	
  
Α	
  (2ος)	
   	
   	
   	
   	
  
ΑΒ	
   	
   	
   	
   	
  
0	
   	
   	
   	
   	
  
Β	
   	
   	
   	
   	
  

	
  	
  
Να	
  εξηγήσετε	
  τους	
  λόγους	
  που	
  σας	
  οδήγησαν	
  στις	
  επιλογές	
  σας.	
  (12+13μ)	
  
	
  


